FTH6F12A KR[IREHERR

o A | P 9 e | B | = e A
v R L A 2
% RIEEE #HBAlz
B =X
H SRS ppm ppm ppm ppm m 10 [ 0.06 | 0.04|0.12]| 0.1 20 | 0.1 [0.06]0.12 p(:fn gzo =8 | £
T mg/m? | mg/m® | mg/m® [ mg/m®| PP™ | ppm [ ppm | ppm [ ppm | mg/m® | pem | PEM | POM | POM mg/m’ = ’
—BIEERNO | 31 736 | 0.007 | 0.073 | 0.000 0.019
ZEEEHENO2| 31 736 | 0.019 | 0.056 | 0.001 0.034 0 0 0 0 (@]
EREIEPINOX]| 31 736 | 0.026 | 0.110 | 0.002 0.052
FER R E
SPM(me/md) 31 743 | 0.008 | 0.052 | 0.000 | 0.018 0 0 O O (@]
égi;g% 31 461 | 0.023 | 0.049 | 0.001 0 0 (8) 0 e}
ZEeERESo2| 31 736 | 0.001 | 0.007 | 0.000 | 0.001 0 0 O O O
—mieikECO | 31 736 | 03 0.8 0.2 05 0 0 e} e} o)
—E{EZERNO | 31 736 | 0.007 | 0.084 [ 0.000 0.020
ZEREZEHRNO2| 31 736 | 0.021 | 0.062 | 0.003 0.038 0 0 0 0 (e}
Z=HEEEPINOX]| 31 736 | 0.028 | 0.130 | 0.003 0.059
FER IR E
SPM(mg/m®) 31 743 | 0.010 | 0.050 | 0.000 | 0.020 0 0 O O (@)
—BIEERNO | 31 736 | 0.009 | 0.071 | 0.000 0.022
ZEgE=ERNO2| 31 736 | 0.021 | 0.059 | 0.002 0.038 0 0 0 0 o
EREIEPINOX]| 31 736 | 0.029 | 0.127 | 0.002 0.061
RN K E
SPM(me/md) 31 744 | 0.009 | 0.046 | 0.000 | 0.017 0 0 O O O
—Eie=EHRNO | 31 736 | 0.007 | 0.055 | 0.000 0.020
ZEgE=EHRNO2| 31 736 | 0.022 | 0.061 | 0.003 0.036 0 1 0 0 O
EFHEEPNOX| 31 736 | 0.029 | 0.109 | 0.004 0.056
R IR E
SPM(mg/m®) 31 744 | 0.010 | 0.044 | 0.000 | 0.020 0 0 O O (@)
* A XM )NIZ0.06ppmZEFEZ 1-B H
4 = BIE | RIE | BE | 1B5REED | 1BREED
BIER b ¢ e .
= a@AH A% | BR | o | BEE | SEE
B M| 31 744 | NNW
EE(m/s) 31 744 1.2 52 0.1
f=2# -
& ECC) 31 744 8.6 18 1.4

2 E%) 31 744 48 85 17




